
 

1÷2 

 

cfj]bg kmf/d 

 

 

 

pDd]bjf/n] b/vf:t kmf/fd e/]sf] kb ;DaGwL ljj/0f 

kb M tx M 

 

 

cfj]bssf] JolQmut ljj/0f 

gfd y/ M 

 

lnË M 

gful/stf g+= M 

 

hf/L ug]{ lhNnf M hf/L ldlt M 

:yfoL 7]ufgf -s_ k|b]zsf] gfd M -v_ lhNnf M 

 

-ª_ 6f]n M 

-u_ :yfgLo txsf] gfd M 

-3_ j8f g+= M 

 

kqfrf/ ug]{ 7]ufgf M 

 

;Dks{ g+= M O{d]n M 

afa'sf] gfd, y/ M 

 

cfdfsf] gfd, y/ M 

afh]sf] gfd, y/ M 

 

klt÷kTgLsf] gfd, y/ M 

hGd ldlt M -lj=;+= df_ M -O{:jL ;g\df_ M b/vf:t lbg] ldltdf cfj]bssf] pd]/  

-jif{ tyf dlxgfdf_ M 

 

z}lIfs of]Uotf ;DaGwL ljj/0f -P;= Pn= ;L= b]lv dfly_ 

of]Uotf ljBfno÷ljZjljBfno ptL0f{ u/]sf] ;fn k|fKtf+s 

k|ltzt÷;L=hL=kL=P= 

    

 

 

   

 

 

   

 

 

   

sfof{no k|of]hgsf] nflu 

kl/Iffsf] /f]n g+= M 

kf;kf]6{ ;fO{hsf] 

 kmf]6f] 



 

2÷2 

 

  

 

 

pk/f]Qm adf]lhdsf] ljj/0f ;fFrf] xf], em'Ýf 7x/] k|rlnt sfg"g jdf]lhd ;x'Fnf÷a'emfpFnf . 

bfofF 

 

afofF 

x:tfIf/ M  

sfof{g'ejsf] ljj/0f 

;+:yf gfd  ;DaGwLt ljifodf cg'ejL jif{ 

 

 

  

 

 

  

 

 

  

 

 

  

cGo ljj/0f 

/Qm ;d"x M 

 

cfktsfnLg ;Dks{ 

 

gfd M 7]ufgf M 

gftf M 

 

;Dks{ g+= M 


